Spare parts

KEUCO

221

Sp



KEUCO Spare parts

Index

Tumblers..... 22.03
Soapdishes .....ccccceeiiriiecciiirrrce e, 22.05
Brush inserts .......ccccciiiiiiiiiiin 22.07
Brushes ..., 2210
DImensions ...
Spare Parts Accessories ........cccceceereenen. 22.14

Spare Parts Mirror Cabinets / Furniture ... 22.21

22.04

22.06

22.09

2212

22.13

22.20

22.22

222



Accessories / Fittings

Spare parts

KEUCO

Replacements for tumblers discontinued collections

Discontinued Alternative collection PG $
Apollo Apollo 00650009000 1 43.10
available while stock
lasts Amaro 01850009000 1 37.70
City 00850000100 1 8.70
Smart 02350009000 1 17.60
Arriba Arriba 01750009000 1 36.50
available while stock
lasts Amaro 01850009000 1 37.70
City 00850000100 1 8.70
Smart 02350009000 1 17.60
Caprice Astor 02150009000 1 56.50
Elegance 01650006000 1 22.40
Plan 14950009000 1 40.40
City City 00850000100 1 8.70
available while stock
lasts Eurotrend 00450006000 1 17.60
Smart 02350009000 1 17.60
Edition 100 Edition 100 10050009000 1 54.90
available while stock
lasts
Elegance until 2009 Elegance 01650006000 1 22.40
available while stock 01650008000 1 55.70
lasts
P Elysée Elysée 02550009000 1 110.60
o¥% available while stock
= ] lasts
Lj," 1
Ii& 41
J
Futura Futura 00550009000 1 38.10
available while stock
lasts
[— Imperial Imperial 02050009000 1 135.60
| | available while stock
."\ 0 ( Al lasts Astor 02150009000 1 56.50
! ,_& \) k Elegance 01650006000 1 22.40
— Palace 02250009000 1 82.60
Plan 14950009000 1 40.40
PG = Price group 22.3




KEUCO

Accessories / Fittings

Spare parts

Replacements for tumblers discontinued collections

Discontinued Alternative collection PG $
Madison Madison 02850009000 1 75.40
available while stock
lasts
Mango Mango 03750009000 1 40.40
available while stock
lasts
ol > Novo Amaro 01850009000 1 37.70
‘ City 00850000100 1 8.70
‘ Eurotrend 00450006000 1 17.60
| YA Smart 02350009000 1 17.60
Olympic Astor 02150009000 1 56.50
@LT Elegance 01650006000 1 22.40
A ./ I Plan 14950009000 1 40.40
—
(-
-
4 ““‘“'/ Omega Omega 03250009000 1 105.10
| — | available while stock
lasts
@)
1 1
Palace Palace 02250009000 1 82.60
available while stock
lasts Elegance 01650006000 1 22.40
Plan 14950009000 1 40.40
Trapez/De Luxe Trapez/De Luxe 04050009000 1 22.40
available while stock
lasts Amaro 01850009000 1 37.70
City 00850000100 1 8.70
Eurotrend 00450006000 1 17.60
Smart 02350009000 1 17.60
Trias Trias 04550009000 1 40.40
available while stock
lasts Amaro 01850009000 1 37.70
City 00850000100 1 8.70
Eurotrend 00450006000 1 17.60
Smart 02350009000 1 17.60

224

PG = Price group




Accessories / Fittings

Spare parts

KEUCO

Replacements for soapdishes discontinued collections

Discontinued Alternative collection PG $
Apollo Apollo 00655009000 1 40.40
available while stock
lasts City 00855000100 1 10.70
Smart 02355009000 1 23.80
Arriba Arriba 01756000100 1 26.20
available while stock
lasts
City City 00855006000 1 23.80
available while stock | City 00855000100 1 10.70
lasts
Smart 02355009000 1 23.80
—
= Edition 100 Edition 100 10055009000 1 55.70
available while stock
lasts
Elegance until 2009 Elegance 01655006000 1 46.70
available while stock | Elegance 01655008000 1 52.10
lasts
Elysée Elysée 02555009000 1 106.90
available while stock
lasts
Eurotrend Eurotrend 00455006000 1 31.00
available while stock
lasts City 00855000100 1 10.70
Smart 02355009000 1 23.80
Futura Futura 00555009000 1 44.50
available while stock
lasts
Mango Mango 03755009000 1 61.10
available while stock
lasts
PG = Price group 22.5




KEUCO S pa re pa rtS Accessories / Fittings

Replacements for soapdishes discontinued collections

Discontinued Alternative collection PG $
Novo Apollo 00655009000 1 40.40
available while stock
lasts
Olympic Olympic 01255009000 1 112.30
available while stock
lasts
Omega Omega 03255009000 1 136.60
available while stock
lasts
Palace Palace 02255009000 1 79.10
available while stock
lasts Astor 02155009000 1 95.30
Plan 14955009000 1 37.30
Trapez/Deluxe City 00855000100 1 10.70
Smart 02355009000 1 23.80
Trias City 00855000100 1 10.70
— Smart 02355009000 1 23.80

22.6 PG = Price group



Accessories / Fittings

Spare parts

KEUCO

Replacements for brush inserts discontinued collections

Discontinued Alternative collection PG $
Apollo City 00864000100 1 35.10
Elegance 01669009000 1 59.20
Arriba City 00864000100 1 35.10
Elegance 01669009000 1 59.20
S
City until 2005 City 00864000100 1 35.10
available while stock | Elegance 01669009000 1 59.20
lasts
P
-
Edition 100 Edition 100 10064000100 1 48.50
available while stock
lasts
&
Elegance until 2009 | Elegance 01664000100 1 45.00
available while stock
|8 lasts
L )
Elegance until 2009 Elegance 01669009000 1 59.20
available while stock | Elegance 01669008000 1 64.70
lasts
il
i Elysée Cleo 03864000100 1 57.10
f Eurotrend Eurotrend 00464009000 1 53.90
available while stock
lasts
Futura Eurotrend 00464009000 1 53.90
available while stock
lasts
]
PG = Price group 22.7




KEUCO

Spare parts

Accessories / Fittings

Replacements for brush inserts discontinued collections

Discontinued Alternative collection PG $
Gemini Apollo 00664009000 1 61.10
(01064) City 00864000100 1 35.10
Elegance 01669009000 1 59.20
Imperial (02064) Imperial 02064009000 1 230.90
available while stock
lasts
Madison Apollo 00664009000 1 61.10
(02864) City 00864000100 1 35.10
Elegance 01669009000 1 59.20
Mango Mango 03764009000 1 82.60
available while stock [ Mango 03769009000 1 82.60
lasts
— =
| l
Novo Eurotrend 00464009000 1 53.90
==
|
.
Olympic Apollo 00664009000 1 61.10
City 00864000100 1 35.10
Elegance 01669009000 1 59.20
Palace Eurotrend 00464009000 1 53.90
=
[
Trapez Mango 03764009000 1 82.60
(04064)
P}
U]
Trapez/Deluxe City 00864000100 1 35.10
Elegance 01669009000 1 59.20

22.8

PG = Price group




Accessories / Fittings Spa re pa rtS KEUCO

Replacements for brush inserts discontinued collections

Discontinued Alternative collection PG $

Trias Trias 04564009000 1 70.00

available while stock

lasts City 00864000100 1 35.10
) Elegance 01669009000 1 59.20

PG = Price group 22.9



KEUCO

Spare parts

Accessories / Fittings

Replacements for brushes discontinued collections

Discontinued Alternative collection PG $
Apollo Amaro Toilet brush with handle 01864014000 1 48.20
Amaro Toilet brush head 01864004000 1 15.80
City 00864004000 1 8.70
Arriba Amaro Toilet brush with handle 01864014000 1 48.20
Amaro Toilet brush head 01864004000 1 15.80
City 00864004000 1 8.70
-y
City City 00864004000 1 8.70
available while stock
lasts Amaro Toilet brush with handle 01864014000 1 48.20
P Amaro Toilet brush head 01864004000 1 15.80
kk\;.-_—_i
Edition 100 Edition 100 Toilet brush with handle 10064014000 1 49.30
available while stock | Edition 100 Toilet brush head 10064004000 1 17.00
lasts
&
Elegance Amaro Toilet brush with handle 01864014000 1 48.20
Amaro Toilet brush head 01864004000 1 15.80
|y
P
Elegance Amaro Toilet brush with handle 01864014000 1 48.20
Amaro Toilet brush head 01864004000 1 15.80
City 00864004000 1 8.70
i .l
SN Ji.‘-
q Elysée Cleo Toilet brush head 03864004000 1 20.00
f Eurotrend Mango Toilet brush with handle 03764014000 1 65.00
Mango Toilet brush head 03764004000 1 25.70
W
Futura Mango Toilet brush with handle 03764014000 1 65.00
Mango Toilet brush head 03764004000 1 25.70

—

2210

PG = Price group




Accessories / Fittings

Spare parts

KEUCO

Replacements for brushes discontinued collections

Discontinued Alternative collection PG $
Gemini Olympic Toilet brush with handle 01264004000 1 33.80
Madison Olympic Toilet brush with handle 01264004000 1 33.80
Mango Mango Toilet brush with handle 03764014000 1 65.00
available while stock | Mango Toilet brush head 03764004000 1 25.70
lasts
—_ =
| l
Novo Mango Toilet brush with handle 03764014000 1 65.00
Mango Toilet brush head 03764004000 1 25.70
;._':.’3
|
. ¥
Olympic Olympic Toilet brush with handle 01264004000 1 33.80
available while stock
lasts
Omega Mango Toilet brush with handle 03764014000 1 65.00
\ Mango Toilet brush head 03764004000 1 25.70
Palace Mango Toilet brush with handle 03764014000 1 65.00
Mango Toilet brush head 03764004000 1 25.70
L=’
J
Trapez/Deluxe Amaro Toilet brush with handle 01864014000 1 48.20
Amaro Toilet brush head 01864004000 1 15.80
City 00864004000 1 8.70
>
Trias Amaro Toilet brush with handle 01864014000 1 48.20
Amaro Toilet brush head 01864004000 1 15.80
City 00864004000 1 8.70
PG = Price group 22.11




KEUCO S pa re pa rtS Accessories / Fittings

Replacements for brushes discontinued collections

Discontinued Alternative collection PG $

Vanda Mango Toilet brush head 03764004000 1 25.70

2212 PG = Price group



Spare parts

KEUCO

Dimensions for tumbler and soap holders

EDITION 100 Positioning bushing PALACE
ALEA Positioning bushing 4.4 ELEGANCE
3
\/
< 59 >
CLEO opening aperture cup shaped FUTURA "‘
3
Y
77
MANGO EDITION 200 opening aperture cup shaped-
ARRIBA EDITION 300
SOLO
&
8
64
AMARO EDITION PALAIS
CITY
CITY.2
EUROTREND
SMART
TRIAS
APOLLO ELEGANCE NEW
NOVO A
SOAP HOLDER o

\ A
ASTOR
PLAN TUMBLER

HOLDER

2213



KEUCO

Spare parts

Accessories / Fittings

Spare Parts Accessories

Collections Article no. Item Item no.
ALEA 00748, 00749 Wall mounting set 59274
00748, 00749 Insert 59080
06509 Wall mounting set 50478
06509 Threaded pin DIN551 M5x5 50479
Crystal glass tumbler 00750 009000
Lotion dispenser 00753 009000
for all articles, except 00748, 00749, Wall mounting set 50354
00764, 06509
Disassembly aid 50411
Decor disk 50364-01
Decor disk 50367-01
00748 Ascending pipe 51896
AMARO 01810, 01870 Fastening plate 51094-01
01810, 01858, 01870 Flat-headed screw 51632
06514 Decorative nut 51684-01
06514 Tumbler holder 51682
01850, 01851, 01852, 01855 Insert 51124
all articles Locking lug 51331
01852, 01853 Ascending pipe 51896
AMARO DEKOR-SETS all decor sets End bracket 51329
APOLLO 00618 until May 2003 LSK screw M6x25 51447-04
00618 from June 2003 LSK screw M6x22,5 51060-04
Screw pin 51912
Intake ring 53086
00610 Clamp screw M8x14 53168
00652 Ascending pipe 51907
ARRIBA 01718 Washer 51883-04
all articles Wall mounting set 52222
Disassembly aid 52227
01710 Cover cap 51579-01
01718 Disassembly aid 52229
01752, 01753 Ascending pipe 51896
ASTOR 02101, 02103, 02107, 02109, Wall mounting set 51341
02116, 02121, 02150, 02152,
02153, 02155, 02158, 02160,
02163, 02164, 02170, 17621
02101, 02107, 17621 Plastic socket 52687
02117, 02118 Wall mounting set 53631
Bolts 52123-04
02175 Cover cap 51113-01
02110 Threaded pin M8x8 51887
06541 Wall mounting set 56285
02155 Klemmeinsatz 52879
02101, 02103, 02105, 02107, 02116, Threaded pin DIN914 M6x8 51546
02117, 02118
02121, 02150, 02152, 02155, 02158,
02160,
02163, 02164, 17621
02152 Ascending pipe 51907
06541 Threaded pin DIN914 M6x16 53968
ATELIER 16052 Ascending pipe 70217
Cheese head screw DIN7984-M4x6 50942
16087 Elastic buffer 70484
16062 Threaded pin DIN914 M6x10 53889
O-ring 25x2 70186
2214 PG = Price group




Accessories / Fittings

Spare parts

KEUCO

Spare Parts Accessories

Collections Article no. Item Item no.
CITY 00801, 00815, 00821, 00850, Wall mounting set 52219
00851, 00860, 00862, 00864
00803, 00807 Wall mounting set 50177-00
00801, 00815, 00821, 00850, Threaded pin DIN914 M6x10 53889
00851, 00860, 00862, 00864
00803, 00807 Threaded pin DIN914 M6x16 53968
CITY.2 02701, 02703, 02707, 02721, Universal wall bracket 59264
02750, 02751, 02760, 02762
02763
02714 Wall mounting set 59267
02718 Flat-headed screw DIN 7991 M5x20 59283
02718 from july 2007 Flat-headed screw DIN7991 M5x22 70299
02715 Threaded pin DIN913 M8x8 53380
02718 Foil socket 59282
02701, 02703, 02707, 02750, 02751 Threaded pin DIN914 M6x8 51546
02710 Threaded pin M8x8 51887
02753 Ascending pipe 51907
CLEO all articles except 03814, Wall mounting set 53941
03818, 03864
03818 Wall mounting set 50125
03810, 03870 Screw cap 53938-01
03852 Ascending pipe 51909
03855 Rotation lock 9027000
03864 Hinge 53971
11664
06506 Wall mounting set 50671
03801, 03807, 03810, 03815, Threaded pin DIN914 M6x10 53889
03816, 03818, 03821, 03862, 03863
03850, 03852, 03854, 03855, 03860 Threaded pin DIN914 M6x6 53959
DE LUXE 00915, 00916 Wall mounting set 50017
00918 Threaded pin old DIN 553 M6x14 50006-04
00921 Mounting set 56252
00959, 00962 LSK screw 50247
Wall mounting set 50069
00901, 00907, 00921 Wall mounting set neu 51969
00918 Mounting set neu 56136
00918 Mounting set neu 56114
Insert 50799-57
00921 Insert 51970
00963 Thread piece 51652
EDITION 100 all articles Wall mounting set 59233
10013 O-ring 52872
all articles Threaded pin DIN914 M6x6 53959
10052, 10053 Ascending pipe 51896
EDITION 200 Fastening screw 50132
20001, 20007, 20010, 20013, Cheese head screw M6x16 305747
20021, 20063
20101
20015, 20050, 20055, 20064 Wall mounting set 53496
all except 20050, 20052, 20055 Threaded pin DIN914 M6x8 51546
20101
Wall mounting set 53486
20010 Clamp screw M8x14 53168
20052 Ascending pipe 51896
20015, 20050, 20052, 20055, 20064 Flat-headed screw DIN965 M4x8 53508

PG = Price group

2215



KEUCO

Spare parts

Accessories / Fittings

Spare Parts Accessories

Collections Article no. Item Item no.
EDITION 200-SYSTEM 20101 Sliding block 53492
Clamp lever 53497
20101 Cheese head screw M6x16 305747
20101 Threaded pin DIN914 M6x8 51546
20101 Wall mounting set 53486
20110, 20115, 20150, 20152, Flat-headed screw DIN965 M4x8 53508
20155
20110 Clamp screw M8x14 53168
20152 Ascending pipe 51896
EDITION 300 30050, 30052, 30055, 30064 Wall mounting set 59303
Wall mounting set 59308
30001, 30007 Threaded pin DIN914 M6x7 59316
30018, 30021 Flat-headed screw DIN7991 M4x10 51704
30060 Intake 59370
Wall mounting set 59455-04
Wall mounting set 70474-04
Wall mounting set 70379-04
30050, 30052, 30055, 30064 Threaded pin DIN914 M6x8 51546
30010 Clamp screw M8x14 53168
30015 Threaded pin DIN914-M5x6 51927
ELEGANCE OLD 01601, 01607, 01621, 01662 Eccentric bolt 50817-04
(with eccentric cam Mounting set 56303
attachment) s
01601, 01607 Synthetic insert 53952
01618, 01620 Eccentric bolt 50856-04
01619 Wall mounting set 50054
01622, 01650, 01651, 01655, Mounting set 56138
01656, 01659, 01663, 01665,
01669, 06520, 06522, 06524
01622, 01650, 01651, 01655, Eccentric bolt 50819-04
01656, 01659, 01663, 01665,
01669, 06520, 06522, 06524
04948 Lid 52283-01
04948 Wall mounting set 52291
04948 lockable
04948 lockable Spring unit 53408
04948 lockable Opening aid 53406
04948, 04948 lockable Grip lever 54383
Dichtung 54398
01662 Screw bolts M4x7 50317
04967 Gasket plate 52652
04967 Wall mounting set 52661
04982 Plastic foot 53467
01689 Wall mounting set 50393-04
ELEGANCE from 1997 01610 Clamp screw M8x14 53168
(with snap fixing) 01618, 01620 Mounting set neu 56136
01621 Insert 50799-57
04957 Socket 50316
ELEGANCE from 1997 01619 Wall mounting set 50054
(with snap fixing) 01619 Flat-headed screw DIN7991 M8x16 | 50702
01647, 01649, 01650, 01652, Insert 59380
01653, 01654, 01655, 01656
01651 Insert 59375
01659 Soap clip 51396
all magnetic soap holders
01662 Wall mounting set 52146

2216

PG = Price group



Accessories / Fittings

Spare parts

KEUCO

Spare Parts Accessories

Collections Article no. Item Item no.
11607, 11621 Wall mounting set 59308-04
Threaded pin DIN914 M5x8 54000
Threaded pin DIN914 M6x8 51546
01601, 01607, 01621, 01659, 01663 Wall mounting set neu 51969
01610 Clamp screw M8x14 53168
01618, 01620 Mounting set neu 56114
01621 Insert 50799-57
01621 Insert 51970
01650, 01651, 01652, 01653, 01655, Wall mounting set 51964
01656, 01669
ELEGANCE NEW 11601, 11663 Wall mounting set 70474-04
UNTIL 2009 Threaded pin DIN914-M6x14 50288
11607, 11621 Wall mounting set 59308-04
Threaded pin DIN914 M6x7 59316
11610 Screw cap 70763-01
Washer 50249
Wall mounting set 70764-04
Threaded pin DIN914 M6x6 53959
11613 Wall mounting set 70379-04
Threaded pin DIN914 M5x8 54000
11618, 11620 Wall mounting set 70403-04
Threaded pin DIN914 M6x8 51546
11650, 11652 Wall mounting set 59891
11653, 11655 Threaded pin DIN914 M6x7 59316
11653 Ascending pipe 70216
11660 Wall mounting set 59455-04
Flat-headed screw DIN7991 M4x10 51704
11662 Wall mounting set 50763
Threaded pin DIN914 M6x6 53959
11664 Hinge 53971
11675 Wall mounting set 70799-04
Threaded pin 70849
17676 Threaded pin DIN 914 M4x6 53381
EUROTREND all articles except 00460 Wall mounting set 53713
all articles Decor ring 52956-04
Cover cap 52955-01
00460 Torque bolts 52979
00460 Wall mounting set 53715
FUTURA 00510 Mounting set 56263
00518, 00521, 00550, 00555, Eccentric bolt 51627-04
00560, 00564
FUTURA-SYSTEM Clamp 51802
06563 Clamp screw M8x14 53168
IMPERIAL 02055, 02062, 02065 LSK screw M5x10,5 50247-04
02021 Insert 52683
02018 Threaded pin DIN914 M6x16 53968
JOLY 01879, 01880 Insert 51124
01879, 01880, 01881 Locking lug 51331
01884 Threaded pin M8x8 51887
MADISON 06557 Threaded pin DIN914 M6x20 53632
all articles except 02814, Wall mounting set 50090
02863, 02875
06557 Wall mounting set 56285

PG = Price group

2217



KEUCO

Spare parts

Accessories / Fittings

Spare Parts Accessories

Collections Article no. Item Item no.
MANGO OLD 03701, 03710 Mounting set 56328
(with eccentric cam 03718, 03719 Mounting set 56070
attachment) .
03720, 03721, 03750, 03754, Mounting set 56329
03755, 03759, 03760, 03763,
03764, 03769, 03770, 03771
03714, 03715 Eccentric bolt 52897-04
03721 Intake ring 51008-51
03764 LSK screw 92225-01
MANGO NEW all articles Wall mounting set 56102
(with press button 03750 Insert 51168-51
attachment)
03750 Insert 51168-57
NOVO all articles Button cover mit Abdeckkappe 56236-17
00310 Threaded pin M8x8 51887
00363 Thread piece 51652
OLYMPIC all cover discs Screw 52867
01287 Gasket 51120
06533, 06534 LSK screw M5x12,5 50227-04
all cover discs Push button 52864
all articles except 02214, Eccentric bolt 51627-04
02216, 02272
Palais 40001, 40007, 40063 Wall mounting set 59886-04
Threaded pin DIN914-M6x14 50288
40010 Clamp screw M8x14 53168
40015 Wall mounting set 59321-04
Threaded pin DIN914-M5x6 51927
40018 Threaded pin DIN914 M6x10 53889
40021, 40052, 40055 Wall mounting set 59891
Threaded pin DIN914 M6x10 53889
40052 Ascending pipe 59905
40058 End piece 70015
40064 Hinge 53971
40067 Gasket plate 70056
Wall mounting set 52661
PLAN 14911 End piece 50812
14918, 14919, 17649 Fastening bolts 51314-04
14918, 14919, 17649 Intermediate plate 51991
14913, 14921, 14922, 14960, Fastening bolts 51319-04
14961, 14962
14965 Sealing aid 52590
Sealing bolt 52589
14921, 14922, 14960, 14961, Clamp segment 55431
14962
Threaded pin 307695
06549 Light shade 06549 009000
(closed version)
2218 PG = Price group




Accessories / Fittings

Spare parts

KEUCO

Spare Parts Accessories

Collections Article no. Item Item no.
Clamp screw M8x14 53168
Wall mounting set 50763
Opening aid 51911-01
14901, 14907, 14913, 14921, Threaded pin DIN914 M6x6 53959
14922, 14950, 14953, 14955,
14960, 14961, 14962
Threaded pin DIN914 M6x8 51546
06549 Wall mounting set 50090
Wall mounting set 59494
06549 Threaded pin DIN914 M6x16 53968
06545 Threaded pin DIN914 M6x10 53889
14948, 14953 Ascending pipe 51896
14952, 14953 Ascending pipe 51907
14954, 14956, 14985 Disassembly aid 50411
Ascending pipe 70216
PLAN CARE 34902, 34903, 34904, 34905 End buffer 53241.37
End piece 52678-01
34903, 34904, 34905 End piece 52678-07
34903, 34905 Threaded pin DIN 914 M4x5 53362
34903, 34905 Roll brake 50601.38
34979 Socket 55349
Plug bolts 55348
34940, 34981, 34982 Bearing shell 55117
Wall mounting set 50763
Cap 55142
34902, 34903, 34904, 34905 Socket 50316
34979 Threaded pin DIN914 M6x6 53959
SMART 02301, 02303, 02315, 02321, Universal wall bracket 59019
02350, 02351, 02355, 02360,
02362
02301, 02303, 02350, 02351 Threaded pin DIN914-M5x6 51927
02315, 02321, 02360, 02362 LSK screw DIN 964 M5x22 51917-04
02307, 02309 Universal wall bracket 59023
02307, 02309 Flat-headed screw DIN 7991 M6x10 51345
02309 Cheese head screw DIN 7984 M4x8 55587
Ascending pipe 51896
SOLO all articles except 01514, Wall mounting set 53978
00967, 06508
all articles except 01514, Disassembly aid 52227
00967, 06508
Ascending pipe 51896
01510 Cover cap 51579-01
01518 Disassembly aid 52229
TRAPEZ 04052, 04054 Wall mounting set 51200-01
04001, 04007, 04021 Wall mounting set 52222
04001, 04007, 04021 Disassembly aid 52227
TRIAS 04501, 04507, 04521, 04558, Wall mounting set 53006
04560, 04562, 04563, 04564
04501, 04507, 04521, 04560, Disassembly aid 52119
04562, 04563, 04564
04518 Wall mounting set 52101
04510 Threaded pin DIN913 M8x8 53380
04550, 04552, 04555 Wall mounting set 51964
04552 Ascending pipe 51896

PG = Price group

2219



KEUCO

Spare parts

Accessories / Fittings

Spare Parts Accessories

Collections Article no. Item Item no.
VISIT 18064 until the end of 2003 Contact piece 404558
18015, 18020, 18021, 18060, Wall mounting set 50354
18063
18015, 18020, 18021, 18060, Disassembly aid 50411
18063
18015, 18020, 18021, 18060, Decor disk 50364-01
18063
18015, 18020, 18021, 18060, Decor disk 50367-01
18063
MAGNET SOAP HOLDER all magnetic soap holders Disk magnet 52117
all magnetic soap holders Flat-headed screw 52169
all magnetic soap holders Soap clip 51396
MIRRORS all mirrors Mounting set 56249
all mirrors Push button 54818
22.20 PG = Price group



Accessories / Fittings

Spare parts

KEUCO

Spare Parts Mirror Cabinets

Collections Article Spare part Dimensions PG $
EDITION 200 405572 Glass shelf with brackets 260x110x6 mm| 2 67.60
Model No. 20201 405573 Glass shelf with brackets 180x 110x6 mm| 2 62.60
307529 Light shade 249 x 800 mm | 2 459.20
405698 Swing mirror (inside) 170x510 mm| 2 219.80
307585 Glass shelf with brackets satinato| 2 67.60
EDITION 200 405572 Glass shelf with brackets 260x 110 x6 mm| 2 67.60
Model No. 20202 405571 Glass shelf with brackets 360 x 110x6 mm| 2 72.50
307530 Light shade 249 x 1000 mm | 2 488.60
405698 Swing mirror (inside) 170x 510 mm| 2 219.80
307586 Glass shelf with brackets satinato| 2 87.30
ROYAL 30 405362 Shelf supports 12 pieces 2 24.50
Model No. 05601 306092 Glass shelf with brackets 2175x 115 x4mm| 2 35.60
405454 Light complete matt white 2 125.50
405459 Light complete matt blue 2 125.50
05601 000001 | Light shade matt white 2 60.20
05601 000002 | Light shade matt blue 2 60.20
ROYAL 30 405362 Shelf supports 12 pieces 2 24.50
Model No. 05602 306700 Glass shelf with brackets 2 50.50
405454 Light complete matt white 2 125.50
405459 Light complete matt blue 2 125.50
05601 000001 | Light shade matt white 2 60.20
05601 000002 | Light shade matt blue 2 60.20
ROYAL 30 405362 Shelf supports 12 pieces 2 24.50
Model No. 05603 306891 Glass shelf with brackets 271 x115x4mm| 2 46.10
405454 Light complete matt white 2 125.50
405459 Light complete matt blue 2 125.50
05601 000001 | Light shade matt white 2 60.20
05601 000002 | Light shade matt blue 2 60.20
ROYAL 30 405362 Shelf supports 12 pieces 2 24.50
Model No. 05604 306892 Glass shelf with brackets 371x115x4mm| 2 54.60
405454 Light complete matt white 2 125.50
405459 Light complete matt blue 2 125.50
05601 000001 | Light shade matt white 2 60.20
05601 000002 | Light shade matt blue 2 60.20
ROYAL T2 307979 Light shade opal white | 2 57.30
Model No. 13801 307784 Tumbler white matt| 2 28.60
307791 Utensil shelf white matt| 2 31.10
221626 Tray silver anodized | 2 64.50
308075 Glass shelf with brackets 605x 118 x6 mm| 2 40.60
405859 Shelf supports (set, 3 left and 3 right) 2 23.90
405900 Revolving door right hand hinged 303x700 mm| 2 341.30
405899 Revolving door left hand hinged 303x700mm| 2 341.30
ROYAL T2 307979 Light shade opal white | 2 57.30
Model No. 13802 307784 Tumbler white matt | 2 28.60
307791 Utensil shelf white matt| 2 31.10
221626 Tray silver anodized | 2 64.50
308076 Glass shelf with brackets 805x 118 x6 mm| 2 45.30
405859 Shelf supports (set, 3 left and 3 right) 2 23.90
405902 Revolving door right hand hinged 403x700mm| 2 372.40
405901 Revolving door left hand hinged 403x700 mm| 2 372.40
PG = Price group 22.21



KEUCO

Spare parts

Accessories / Fittings

Spare Parts Mirror Cabinets

Collections Article Spare part Dimensions PG $
Edition 300 308619 Rear wall 590 x 569 x 16 mm| 2 258.30
Model-No. 30201 308626 Side mirror 151x649x3mm| 2 30.30
308985 Flourescent tube 14 Watt T5 Warmetone 830 | 2 20.40
308605 Light cover top 605,5mm| 2 31.50
308603 Light cover bottom 605,5mm| 2 31.50
221255 Hydraulics 150N 2 98.70
406082 Sliding door inside 2 148.30
406141 Lift up door with handle 650 x 650 mm| 2 958.70
59430-01 Handle only chrome-plated 140 mm| 2 47.20
Edition 300 308618 Rear wall 1190 x 569 x 16 mm| 2 298.50
Model-No. 30202 308626 Side mirror 151x 649 x3mm| 2 30.30
308987 Flourescent tube 28 Watt T5 Warmtone 830 | 2 21.40
308604 Light cover top 12055 mm| 2 59.50
308602 Light cover bottom 1206 mm| 2 59.50
222302 Hydraulics 250N 2 100.90
406082 Sliding door inside 2 148.30
406142 Lift up door with handle 1250 x 650 mm| 2 1,322.70
59430-01 Handle only chrome-plated 140 mm| 2 47.20
Edition 300 308913 Rear wall 890 x569 x 16 mm| 2 267.20
Model-No. 30203 308626 Side mirror 151x 649 x 3mm| 2 30.30
308986 Flourescent tube 21 Watt T5 849 mm| 2 22.50
308911 Light cover top 905,5mm| 2 54.80
308910 Light cover bottom 905 mm| 2 48.20
222302 Hydraulics 250N 2 100.90
406082 Sliding door inside 2 148.30
406278 Lift up door with handle 950 x 650 mm| 2 1,259.50
59430-01 Handle only chrome-plated 140 mm| 2 47.20
Edition Palais 309058 Flourescent tube 60 Watt D=375mm| 2 49.40
:‘{',:g‘:" :8201 406390 Mirror facing 740 x 630 mm| 2 772.50
406329 Glass shelf with brackets with support 250 x 87 mm| 2 28.80
406330 Glass shelf with brackets with support 175 x 87 mm| 2 22.70
309271 Glass shelf with brackets 2 33.00
Edition Palais 309058 Flourescent tube 60 Watt D=375mm| 2 49.40
("g:gi: :3201 406390 Mirror facing 740 x 630 mm| 2 772.50
406329 Glass shelf with brackets with support 250 x 87 mm| 2 28.80
406330 Glass shelf with brackets with support 175x87 mm| 2 22.70
309269 Glass shelf with brackets 2 33.00
Edition Palais 309058 Flourescent tube 60 Watt D=375mm| 2 49.40
ggg"h“ ?no)zoz 406391 Mirror facing 990 x 630 mm| 2 844.60
30290 179300 | Glass shelf with brackets only, with 375x90x6 mm| 2 54.80
support silver anodized/matt white
30290 179200 | Glass shelf with brackets only, with 275x90x6 mm| 2 41.20
support silver anodized/matt white
309272 Glass shelf with brackets 2 37.10
Edition Palais 309058 Flourescent tube 60 Watt D=375mm| 2 49.40
?333’?:, :10)202 406391 Mirror facing 990 x 630 mm| 2 844.60
30290 179300 | Glass shelf with brackets only, with 375x90x6 mm| 2 54.80
support silver anodized/matt white
30290 179200 | Glass shelf with brackets only, with 275x90x6mm| 2 41.20
support silver anodized/matt white
309272 Glass shelf with brackets 2 37.10
22.22 PG = Price group



